2019/8/3

JavaEiliEiEmid

SR4s - H25F - #5100

TIRBETENERE () (RF—1I)
public static void main(String[] args) {

int n = 1,sum = 0;
while (n<=3) {
sum = sum+n;

}

System.out.println("1+2+3="+sum);

https://class.imooc.com/exam/153/getuserexam

‘V’ it

Java kil iE: MR -FEUR P L BE

TERIRL S

B 25/25 w@ B 4= 9677 ?

’

g
o)

>y J USEC AT -

EMER: C RHER: C

SERI:
RIEBWhileBIEH, FEVEELMN, ERAMSEn<=3—ERT, M—BREATE,
RSERGEN, SREETER, WO,

A 1+2+3=6

B 1+2+3=3

C WER, BEETER

D #wizwz

1/1


javascript:void(0);

